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In Exercises 1 and 2, find the surface area of the right cone. CGV\QS S A 5 —ll-_A— " _L= ﬂ:
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In Exercises 3 and 4, find the volume of the cone. 2
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In Exercises 7 and 8, find the volume of the composite solid.

. ? ;/z 28# in.3 .
\[%53b.1LSmm S

= SIZTPMM‘Q




9. A cone has height / and a base with radius . You want to change the cone so its —~
volume is tripled. What is the new ‘I}Qght)fyou only change the height? What is

the new rad1us if you only change the radius? Explain. -TM ¢ Hrm m
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10. A snack stand serves shaved ice in cone- 4in.
shaped containers and cylindrical containers.
Which container gives you more shaved ice T
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for your money? Explain.
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14. the radius of a sphere with a surface area of 367 square meters
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15. the diameter of a sphere with a surface area of 817 square yards
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In Exercises 16-18, find the volume of the sphere.
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In Exercises 19 & 20, find the volume of the sphere with the given surface area.
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In Exercises 21 & 22, find the volume of the composite solid.
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23. Find the surface area and volume of the solid produced by rotating the figure at
IV the right around the given axis. v—=2>1l
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24. A sphere is inscribed in a cube with-avotormr ic yards. What is the
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surface area of the sphere? Explain your reasoning.
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25. In 2000, the International Table Tennis Federation changed the official diameter of
a table tennis ball from 38 millimeters to 40 millimeters. Without calculating surface
areas and volumes, determine how the surface area and volume of the ball changed.
Explain your reasoning. Find the surface areas and volumes to check your answer.

@“‘ Figa)zo T rading  woreasd by [,
E o G,g\’zg_uz%u.u'/o % ¢

0\_ 3000, |. %T\/
(ﬁ) B




